# **Garland Independent School**

**GISD Sourcing Bid Tab Report** 

Bid#:	32011	Title:	53-18 General Trades,
Quote#	Vendor / Supplier	EPCNT	Discount
538437	*BARSCO INC	Yes	25
538410	CONVOY SERVICING	Yes	0%
537423	*HAGAR RESTAURANT EQUIPMENT	Yes	35% discount on
	SERVICE INCORPORATED		standard priced
			items, 25% to 15%
	HERITAGE FOOD SERVICE GROUP, INC.	Yes	See attached
	· · · · · · · · , ·		Discount Line list
538415	JOHN M BAXTER SALES CO INC	YES	15%
536397	KAM MILLER & SONS LLC	Yes	N/A
	MURRAY SHEETMETAL	Yes	-
	REFRIGERATED SPECIALIST. INC.	Yes	Okay
536401	W W GRAINGER INCORPORATED	NO	Minimum of 10%
			category discoun
537453	WEDGE SUPPLY INC	Yes	0.35

1SPNC - Sample pricing not compettive with awarded suppliers 91E - Insufficient Experience with Product/Service

# \*Confidential

					Conndential			
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	Manitowoc Ice Machine Ice Thickness Probe, Stainless and Plastic, Controls Thickness			EA	WEDGE SUPPLY INC	5	NB	NB
	Plastic, Controls Thickness			EA	WEDGE SUPPLY INC	5	ND	ND
		Y		EA	*BARSCO INC	5		
				EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5		
	Manitowoc Ice Machine Inlet Water Valve, Copper/Plastic,				INCORPORATED	5		
2	Controls Water Flow			EA	WEDGE SUPPLY INC	5	NB	NB
		Y		EA	*BARSCO INC	5		
					*HAGAR RESTAURANT			
				EA	EQUIPMENT SERVICE	5		
	Manitowoc Ice Machine Dump Valve, Plastic and Metal, Controls							
3	Water Flow			EA	WEDGE SUPPLY INC	5	NB	NB
		Y		EA	*BARSCO INC	5		
		Y		EA	*HAGAR RESTAURANT	5		
					EQUIPMENT SERVICE			
				EA	INCORPORATED	5		
	Traulsen Reach In Cooler Control Modules, Model G20010, Tesin Computer Boards, Used to Select							
4	Temperature			EA	WEDGE SUPPLY INC	1	NB	NB
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	1		

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	Traulsen Reach In Cooler Thermostat, Model G20010, Plastic	. ,	Reason		Supplier	Giy	FILE	FILCE
	and Stainless, Used to Select Temperature			EA	WEDGE SUPPLY INC	3	NB	N
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	3		
	Traulsen Reach In Cooler Blower Motor, Model G20010, Copper/Stainless, Distributes Air Flow			EA	WEDGE SUPPLY INC	3	NB	N
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	3		
	Traulsen Milk Box Gaskets, Model G20010, Rubber and/or Vinyl, Seal Milk Box Doors			EA	WEDGE SUPPLY INC	15	NB	N
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	15		
	Moduserve Milk Box TXV Valves, Copper, Controls Freon Flow			EA	WEDGE SUPPLY INC	1	NB	NI
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	1		
	Walk In Freezer Door Closer, Stainless Steel, Pulls Freezer Door Closed			EA	WEDGE SUPPLY INC	3	NB	NI
		Y		EA	*BARSCO INC	3		
				EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	3		
	Walk In Freezer Defrost Timer, Plastic / Metal, Controls When The Unit Cycles Into Defrost			EA	WEDGE SUPPLY INC	51	NB	N
					*HAGAR RESTAURANT EQUIPMENT SERVICE			
		Y		EA		51		
	Accutemp Steamer AC Thermostat ATOE-2559-2, Metall/Copper, Controls the Temperature int he			EA	*BARSCO INC	51		
11	Steamer.	Y		EA	WEDGE SUPPLY INC *HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5	NB	NI
				EA	HERITAGE FOOD SERVICE GROUP, INC.	5	\$148.29	\$741.4
	Accutemp Steamer Vacuum Pump ATIE-2703-1, Cast Metal, Create the pressure in the unit to cook with			EA	WEDGE SUPPLY INC	2	NB	NE

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	2	ſ	
	Accutemp Steamer Solid State			EA	HERITAGE FOOD SERVICE GROUP, INC.	2	\$536.47	\$1,072.94
	Relay ATOE-2059-3, Metalic/Cooper, Breaks the flow of electricity			EA	WEDGE SUPPLY INC	5	NB	NB
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5		
				EA	HERITAGE FOOD SERVICE GROUP, INC.	5	\$63.56	\$317.80
	Fisher Faucet Part 3/4 Tray Plug F6642-2100, Rubber, Control Water Shut Off			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	6	NB	NB
		Y		EA		6		
	Fisher Faucet Part Handle F2999-			EA	HERITAGE FOOD SERVICE GROUP, INC.	6	\$25.98	\$155.88
	0002, Stainless, Turns Water Stem off.			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	6	NB	NB
		Y		EA	EQUIPMENT SERVICE INCORPORATED	6		
	Fisher Faucet Part 1/4 Beveled			EA	HERITAGE FOOD SERVICE GROUP, INC.	6	\$9.28	\$55.68
	Washer 8-W1/48, Cooper/Rubber, Seats agains the Seat to shut off water flow.			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	12	NB	NB
		Y		EA	EQUIPMENT SERVICE INCORPORATED	12		
	Sprayer Insta-Grip 300 x 58 Black, Plastic/Stainless/Cooper, Control handle for sprayer			EA	WEDGE SUPPLY INC	5	NB	NB
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5		
	Sprayer 5/8 Hose BarBX MGHT BCM75, Stainless covered rubber hose, Transports water from			5.		_	ND	
18	faucet to handle	γ		EA	WEDGE SUPPLY INC *HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5	NB	NB
	Sprayer 5/8 Hose BarBX FGHT BCF75, Stainless covered rubber hose, Transports water from							
	faucet to handle	Y		EA	WEDGE SUPPLY INC *HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5	NB	NB

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Hobart Dish Machine Probe/Switch 00-271622, Cooper,							
20	Used to maintain temperature			EA	WEDGE SUPPLY INC	2	NB	NB
					*HAGAR RESTAURANT EQUIPMENT SERVICE			
		Y		EA	INCORPORATED	2		
				EA	HERITAGE FOOD SERVICE GROUP, INC.	2	\$155.13	\$310.26
	Hobart Dish Machine Float Kit 00- 1222674, Cooper/Stainless, Maintains correct water level in							
21	dishmachine			EA	WEDGE SUPPLY INC	2	NB	NB
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	2		
				EA	HERITAGE FOOD SERVICE GROUP, INC.	2	\$20.45	\$40.90
	Manhart Food Processor D-11 Blade, Stainless/Cast Aluminum,							
22	Slice vegetable products			EA	WEDGE SUPPLY INC	5	NB	NB
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5		
23	Manhart Food Processor S-11 Blade, Stainless/Cast Aluminum, Slice Vegetables			EA	WEDGE SUPPLY INC	5	NB	NE
		Y		EA	HERITAGE FOOD SERVICE GROUP, INC.	5	\$308.94	\$1,544.70
				EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5		
24	Washer/Dryer Belts - Sears A- 175436, Rubber, Turns the aggitator/drum			EA	WEDGE SUPPLY INC	5	NB	NB
25	Washer/Dryer Elements, Sears 27838, Cooper, Heats the air flow			EA	WEDGE SUPPLY INC	5	NB	NB
	Exhaust Fan, 3/4" Fan Shaft, Steel, Carries and turns the exhaust fans			EA	WEDGE SUPPLY INC	2	NB	NB
-		Y		EA	*BARSCO INC	2		
	Blodget Oven Modular Assembly 22055, Computer Circuit Board,							
27	Controls all functions of the oven.			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT EQUIPMENT SERVICE	2	NB	NB
		Y		EA	INCORPORATED	2		
	Blodget Oven Computer Filter			EA	HERITAGE FOOD SERVICE GROUP, INC.	2	\$958.75	\$1,917.50
28	GBS/GC/SMSI, Cooper/Metal, Balances Eelctrical Flow			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	2	NB	NB
		Y		EA	EQUIPMENT SERVICE	2		

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	Blodget Oven Spark Box, Stainless/Cooper, Used to Ignite							
29	Oven			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	5	NB	NB
		Y		EA	EQUIPMENT SERVICE INCORPORATED	5		
	Stainless Counters 4'x10th, 16 Gauge 304 Stainless Steel, Used							
30	to fix broken or rusted out tables.			EA	WEDGE SUPPLY INC	10	NB	NE
	Black Enamel Spray Paint, 16 0z,	Y		EA	MURRAY SHEETMETAL	10	\$340.00	\$3,400.00
31	Recoating equipment legs and covers			EA	WEDGE SUPPLY INC	12	NB	NE
01								
32	200 Grit Wet Sand Paper, Preppint items to paint			РК	WEDGE SUPPLY INC	20	NB	NE
	1/2" PVC Drain Elbows, Plastic,							
33	Plumbing Drains for Ice Machines			EA	WEDGE SUPPLY INC	12	NB	NE
34	3/8" x 1" Stainless Steel Bolts, Stainless, Attaching shelving			EA	WEDGE SUPPLY INC	50	NB	NE
54	#8 by 1" Stainless Steel Sheet					30		
35	Metal Screws, Repairing Disch Machine and Prep tables			EA	WEDGE SUPPLY INC	50	NB	NE
	Gas Leak Detector, 1 Quart							
36	Fluorescent, Cooper/Plastic Case, Detects gas leaks in kitchen			EA	WEDGE SUPPLY INC	5	NB	NE
30	Delects gas leaks in kitchen			LA	WEDGE SUFFET INC	5	ND	INL
		Y		EA	*BARSCO INC	5	_	
	CFC High Pressure Gauge,							
37	Cooper/Rubber, Freon Testing			EA	WEDGE SUPPLY INC	2	NB	NE
		Y		EA	*BARSCO INC	2		
38	NRP T-Stat Wire, 18/5, Cooper, Montoring Temperatures			EA	WEDGE SUPPLY INC	5	NB	NE
30	4" Grinder Blades, fiber				WEDGE SUFFET INC	5	NB	
39	composite, Cutting Stainless Counters and Piping			EA	WEDGE SUPPLY INC	12	NB	NE
	6" Wire Brush. wire/plastaic handle, cooper, clearning							
40	equipment			EA	WEDGE SUPPLY INC	12	NB	NE
	Trauslen Evap Blower Assembly							
41	Traser 60208-00			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	5	NB	NE
		Y		EA	EQUIPMENT SERVICE	5		
	Lincoln Motor Control Conveyor LIN 369155, Cooper/Plastic,							
42	controls the speed of belt			EA	WEDGE SUPPLY INC	2	NB	NE
		Y		EA	HERITAGE FOOD SERVICE GROUP, INC.	2	\$390.92	\$781.84
					*HAGAR RESTAURANT			
				EA	EQUIPMENT SERVICE	2		

Wade Henderson participated and concurs with the recommendation. The district solicited 173 vendors and received 10 responses

RFP #53-18 General Trades, Services, Parts For Student Nutritional Services

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	Hobart Gasket HOB00-274227-							
43	00004, rubber, pipe/housing			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	3	NB	NB
					EQUIPMENT SERVICE	-		
		Y		EA	INCORPORATED	3		
				EA	HERITAGE FOOD SERVICE GROUP, INC.	3	\$8.90	\$26.70
					SERVICE GROOF, INC.	5	40.90	\$20.70
44	Hobart Seal HOB00274117-00006, Rubber, used to connect two parts	5		EA	WEDGE SUPPLY INC	3	NB	NB
					*HAGAR RESTAURANT			
		Y		EA	EQUIPMENT SERVICE	3		
	KIT, Wash Arm Lower 75123878, Stainless , Sprays the dishes from							
45	below			EA	WEDGE SUPPLY INC	2	NB	NB
	STERO Seal Shaft 1 in STEP							
46	571697, Rubber, Seals			EA	WEDGE SUPPLY INC	1	NB	NB
					*HAGAR RESTAURANT EQUIPMENT SERVICE			
		Y		EA	INCORPORATED	1		
				EA	HERITAGE FOOD SERVICE GROUP, INC.	1	\$43.49	\$43.49
	STERO Shaft Seal 3/4 in						ţ.e.i.e	<b></b>
47	STEP571696, Rubber, Seal shaft in place			EA	WEDGE SUPPLY INC	1	NB	NB
					*HAGAR RESTAURANT EQUIPMENT SERVICE			
		Y		EA	INCORPORATED	1		
					HERITAGE FOOD			
				EA	SERVICE GROUP, INC.	1	\$36.99	\$36.99
	Hatco Control Board HA TR02.01.189.00, Computer Board,							
48	Stop, Starts, fills, measures hot water			EA	WEDGE SUPPLY INC	1	NB	NB
40	Water			LA	*HAGAR RESTAURANT	I	NB	ND
		Y		EA	EQUIPMENT SERVICE	1		
					HERITAGE FOOD			
	Hatco Transformer			EA	SERVICE GROUP, INC.	1	\$145.60	\$145.60
	HAT02.17.046.00, Copper, Steps							
49	electricity up or down			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	3	NB	NB
		V		EA	EQUIPMENT SERVICE	3		
		Y		EA		3		
				EA	HERITAGE FOOD SERVICE GROUP, INC.	3	\$37.05	\$111.15
	Hobert C44A Shoft Seel Masher							,
	Hobart C44A Shaft Seal Washer motor 75123962, Rubber, Seals							
50	the shaft from leaing			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	2	NB	NB
				EA	EQUIPMENT SERVICE	2		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Hobart C44A Gasket, Motor 75123961, Cork, Paper, Seals							
51	between the housing/motor			EA		2	NB	NB
					*HAGAR RESTAURANT EQUIPMENT SERVICE			
		Y		EA	INCORPORATED	2		
	FWE Warmer Thermostat # TSTA>HI, Cooper/Plastic, Controls							
52	Temperature of warm box			EA	WEDGE SUPPLY INC	5	NB	NB
		Y		EA	HERITAGE FOOD SERVICE GROUP, INC.	5	\$98.90	\$494.50
					*HAGAR RESTAURANT EQUIPMENT SERVICE			
	FWE Warmer On/Off Switch-			EA	INCORPORATED	5		
53	SWHRCKLE1, Cooper/Plastic, Shot off switch			EA	WEDGE SUPPLY INC	5	NB	NB
					*HAGAR RESTAURANT			
		v		EA	EQUIPMENT SERVICE	5		
					HERITAGE FOOD	5		
				EA	SERVICE GROUP, INC.	5	\$44.20	\$221.00
54	FWE Warmer Upper Elementary 120V 1250w Part# EL 1250-120-HT, Cooper, Electrical Controls			EA	WEDGE SUPPLY INC	5	NB	NB
		v		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5		
		-		EA	HERITAGE FOOD SERVICE GROUP, INC.	5	\$81.90	\$409.50
55	FWE Warmer Lower Element, moisture 120v 350w Part# EL350- 120-PH, cooper, Electrical controls			EA	WEDGE SUPPLY INC	5	NB	NB
		Y		EA	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	5		
					HERITAGE FOOD			
				EA	SERVICE GROUP, INC.	5	\$112.45	\$562.25
56	FWE Warmer Airmoisture Control Switch Infinite Switch P#55464, Cooper, Plastic, Controls the amount of moisture in warmer			EA	WEDGE SUPPLY INC	5	NB	NB
-					*HAGAR RESTAURANT EQUIPMENT SERVICE			
		Y		EA	INCORPORATED	5		
	FWE Warmer 3" Blower Fan Blade, BID fan motor 115vMTRJK 12092,							
57	Stainless/Tin, Blows air in box			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	2	NB	NB
				EA	EQUIPMENT SERVICE	2		

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		Y		EA	HERITAGE FOOD SERVICE GROUP, INC.	2	\$115.05	\$230.10
	Hobart ASSY, Board X, Relay FT 900 75180204, Cooper/Plastic, Connect electrical source to end							
58	user			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	1	NB	NB
		Y		EA	EQUIPMENT SERVICE	1		
	Accutemp ATOE - 2474-2 24v MDR, Relay Mercury Dispenser, Cooper/Stainless , Controls the							
59	electrical current			EA	WEDGE SUPPLY INC *HAGAR RESTAURANT	3	NB	NB
		Y		EA	EQUIPMENT SERVICE	3		
					HERITAGE FOOD			
				EA	SERVICE GROUP, INC.	3	\$268.18	\$804.54
	Washing machine Pulley 3428359, Stainless Steel, Guies, belts,							
60	power, mechanical operation			EA	WEDGE SUPPLY INC	1	NB	NB
61	Analog Multi Meter, Field Price Instruments, SMAN 460, Plastic Circuits, Measures Voltages			EA	WEDGE SUPPLY INC	4	NB	NB
62	F.H.V. (Fractional Horse Power) Belt A26, Rubber, Belts for			EA		20	NB	
02	Exhaust Fan F.H.V (Fractional Horse Power)-			EA	WEDGE SUPPLY INC	20	NB	NB
63	Belt AL380, rubber, Belts for exhaust fan			EA	WEDGE SUPPLY INC	20	NB	NB
	SEMI ENCL 10 MFD-440v-OV OTY							
64	1024 1/2, 1625, 48, 230, Fan Motor, Plastic/Copper, Voltage controls			EA	WEDGE SUPPLY INC	3	NB	NB
		v		EA	*BARSCO INC	3		
	Cap Cover 1 #35CB38AISP, Metal							
65	cap, cover end of the motor			EA	WEDGE SUPPLY INC	2	NB	NB
	Krowne Pot Filler 20-208L, Cooper/Plastic/Rubber/Chrome,							
66	Used to fill pots on stoves RIDGID FCT & Sink Installer			EA	WEDGE SUPPLY INC	5	NB	NB
07	66807, Stainless/Chrome, Too to			<b>F A</b>			ND	
67	work on faucets Atmospheric Vacuum Breaker 12- 35ELCH Zurn 1/2" Chrome Plated,			EA	WEDGE SUPPLY INC	2	NB	NB
68	Keeps water from back flowing into water supply			EA	WEDGE SUPPLY INC	3	NB	NB
00					*HAGAR RESTAURANT EQUIPMENT SERVICE	1	NB	
				EA	INCORPORATED	3		
69	Krowne 1/2" High Volume E-Z install SS Braided Flex Line			EA	WEDGE SUPPLY INC	5	NB	NB
00	ACCES 780 Ledstralu/4K-12" LED ulc 5w 4000K,LED Light Strip,							
70	Plastic coated, Lights used on serving lines			EA	WEDGE SUPPLY INC	20	NB	NB

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	ACCES 781 LEDSTRALU/4K-23.75 LED U/C 10W 4000K, LED Light Strip, plastic coated, lights used							
71	on serving lines			EA	WEDGE SUPPLY INC	20	NB	NB
	Access 782 LEDSTRALU/4K-39.5							
	LED u/c 14w 4000k, LED Light Strip, Plastic coated, lights used							
72	on serving lines			EA	WEDGE SUPPLY INC	20	NB	NB
	ACCES 783 LEDSTRALU 4/k-47.36 LED u/c 18w 4000k, LED Light							
73	Strip ACCES 784 PWBWHT - Wiring box			EA	WEDGE SUPPLY INC	20	NB	NB
	with Switch, Plastic, Cooper,							
74	Controls for the lights			EA	WEDGE SUPPLY INC	20	NB	NB
	ACCES 785 PWCWHT - 3 ft power cord, Rubber/Cooper, Power							
75	supply for light fixtures			EA	WEDGE SUPPLY INC	10	NB	NB
	ACCES 787 FCONWHT-12" Flex							
	Connt, Flexible LED Connector, Plastic/Copper, Connects multiple							
76	units			EA	WEDGE SUPPLY INC	20	NB	NB
	ACCESS 788BCON - LED Light Butt Conntector, Plastic/Copper,							
77	Wire connection to join units			EA	WEDGE SUPPLY INC	20	NB	NB
	Hyundai HLF25C Vaporizer							
	Solenoid, Cap, Rotor, Plastic Cap/copper , controls the firing							
78	cycle for propane engine			EA	WEDGE SUPPLY INC	2	NB	NB
	Green Nylon Hand pads Medium							
79	Duty 6' x 9", Cleaning pots and pans	91E		вх	JOHN M BAXTER SALES	70	\$10.53	\$737.10
		512					<b>,</b>	<i></i>
		Y		вх	WEDGE SUPPLY INC	70	\$14.06	\$984.20
80	Green Microfiber Cloth 12/pack 12 x 12, Cleaning Ceilings and Vents	1SPNC		DZ	WEDGE SUPPLY INC	70	\$0.99	\$69.30
00	x 12, oleaning cenings and vents	IJFINC		DE		10	ψ0.55	ψ03.00
		N/		57	W W GRAINGER	70	¢44.00	¢004.00
		Y		DZ	INCORPORATED	70	\$14.20	\$994.00
					JOHN M BAXTER SALES			
	New Court Change Man Deinted			DZ	CO INC	70	\$22.80	\$1,596.00
	Maxi Scrub Sponge Mop, Pointed handle, sponge ends, cleaning							
81	walls and ceilings	Y		EA	WEDGE SUPPLY INC	48	\$6.58	\$315.84
	GNGU - MD - 22-18 GRN Nitrile 18"							
82	gloves, use for dishwashinga nd cleaning	Y		EA	WEDGE SUPPLY INC	144	\$44.76	\$6,445.44
	GNGU-LG-22-18 GRN Nitrile 18"							<i><i><i>v</i></i>, <i>v</i>, <i>v</i>, <i>v</i>, <i>v</i>, <i>v</i>, <i>v</i>, <i>v</i></i>
00	gloves, use for dishwashing and						¢ 4 4 70	¢0 445 44
83	cleaning	Y		EA	WEDGE SUPPLY INC	144	\$44.76	\$6,445.44
84	Fabrication of Ice Box Insert			EA	WEDGE SUPPLY INC	1	NB	NB
							<b>.</b> .	<b>.</b> .
		Y		EA	MURRAY SHEETMETAL	1	Quotes Required	Quotes Required
							Required	Required
0-	Air Balancing Service for Kitchen							
85	Exhaust Fans			EA	WEDGE SUPPLY INC	1	NB	NB
				1	1	1	1	1

Wade Henderson participated and concurs with the recommendation. The district solicited 173 vendors and received 10 responses

RFP #53-18 General Trades, Services, Parts For Student Nutritional Services

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	MURRAY SHEETMETAL	10	Need size	Need siz
87	Replace Freezer Door/1 Thermospan 150 bottom Section			EA	WEDGE SUPPLY INC	1	NB	N
		Y		EA	REFRIGERATED SPECIALIST, INC.	1	Quotes Required	Quote Require
							Quotes	Quote
	Replace Walk Through 36" X 80" Insulated Freezer Door, Chase			EA	MURRAY SHEETMETAL	1	Required	Require
	Doors, SSW-299			EA	WEDGE SUPPLY INC	1	NB	N
		Y		EA	REFRIGERATED SPECIALIST, INC.	1	Quotes Required	Quote Require
89	Replace Cap 1# 11927 on Motor, Assemble and Test			EA	WEDGE SUPPLY INC	2	NB	Ν
90	Remove and replace Yale Pallet jack Steering Motor, MBP040- EN24T2748			EA	WEDGE SUPPLY INC	1	NB	٩
91	Remove and replace Yale Pallet Jack Steering Chain, Yale, MBP040-EN242748			EA	WEDGE SUPPLY INC	1	NB	٨
92	Repack yale Lift Cylinder			EA	WEDGE SUPPLY INC	1	NB	ľ
93	Replace Yale Tire 10 X 5 X 6 1/2			EA	WEDGE SUPPLY INC	1	NB	
94	Replace Hyundai HLF 25C Brake Master Cylinder			EA	WEDGE SUPPLY INC	1	NB	
95	Fork lift labor/hour			EA	WEDGE SUPPLY INC	1	NB	٦
		Y		EA	KAM MILLER & SONS LLC	1	\$89.00	\$89.
96	Service call on Forklift/pallet jacks			EA	WEDGE SUPPLY INC	1	NB	٢
		Y		EA	KAM MILLER & SONS LLC	1	\$125.00	\$125.
97	Repair Freezer Roll up Doors			EA	WEDGE SUPPLY INC	1	NB	
98	Hourly Repair			HR	WEDGE SUPPLY INC	1	NB	٢
		Y		HR	*HAGAR RESTAURANT EQUIPMENT SERVICE INCORPORATED	1		
				HR	MURRAY SHEETMETAL	1	\$115.00	\$115.

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
π	len beschption		Reason		ouppiler	QUY	THUC	THEE
				HR	CONVOY SERVICING	1	\$130.00	\$130.00
99	Accutemp Steamer Rebuild Service			HR	WEDGE SUPPLY INC	1	NB	NE
100	Refrigerant R134A			EA	WEDGE SUPPLY INC	40	NB	NE
		Y		EA	CONVOY SERVICING	40	\$156.00	\$6,240.00
				EA	*BARSCO INC	40		
101	Refrigerant R22			EA	WEDGE SUPPLY INC	40	NB	NE
		Y		EA	*BARSCO INC	40		
				EA	CONVOY SERVICING	40	\$635.70	\$25,428.00
102	Refrigerant 422B			EA	WEDGE SUPPLY INC	40	NB	NE
		Y		EA	*BARSCO INC	40		
103	Refrigerant 414B			EA	WEDGE SUPPLY INC	40	NB	NE
		Y		EA	*BARSCO INC	40		
104	Refrigerant R-404A			EA	WEDGE SUPPLY INC	40	NB	NE
		Y		EA	*BARSCO INC	40		
				EA	CONVOY SERVICING	40	\$162.50	\$6,500.00
105	Refrigerant R-408A			EA	WEDGE SUPPLY INC	40	NB	
		Y		EA	CONVOY SERVICING	40	\$507.00	\$20,280.00
				EA	*BARSCO INC	40		
	Refrigerant R-404 - Walk In Freezer			EA	WEDGE SUPPLY INC	40	NB	NE
		Y		EA	*BARSCO INC	40		
	Repair and/or replace frozen food truck "thermal cool" freezer packages, TK370 Diesel Engines, used to keep food frozen during							

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
108	HATTINK Oil Filter or equivalent, For CoolingUnit, Part Number HP- 11-61 82, Paper Filter Type			EA	WEDGE SUPPLY INC	100	NB	NB
109	Thermal Cool Freezer Packages			EA	WEDGE SUPPLY INC	100	NB	NB